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PHYS 321 RoyW.Erizkson

ASSGN. #1C1.81920, 275,26 Chpt 1. Vectors

let speedbe deserbed by viAt"

For what t does the acceleration vector a make

an angle if 450 with the velocity rectors.

t=0

The velrizy rector in always tangent to circle (path.)

Es I' l lcoupee compments in the accelectorDEUT

t o  f i n d  x .

pis the radis of camatue iin the case constant pab

50 214) (2447 + CAn

f o r  x  6 = 4 5 0  l a a l  = T a n ) z A t = A ' + "

A74-2At =0
At (At'- 2) = 0
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5

R=6

e = w t
z =  c t

R = 0

x  = w

z =  c 2 t

R=0

(assume w= const) ip=0

z =2c

Speed

5 0

F= Reet zee

= 0
d t

ée = yêp

ep

Find the speed, magnitade f acuelendiknas
fretion ift.

: *  = dRèe y dzê:de = Réx+ Ree + zêa+ zêa

s?p

Ace~ dye or dép=dp è,
sibailarly

Aèp~lêysel-ée) dép=-deen

TReet R(Pe4) tiea = Re, tRéête€

=103+(bw)" +(bw)"+(2ct)" =(63+464)'2peed= IUl R" +(R4) +2

V(+)= (6'0'+40°4)'2

accelaration
V= ReetRyey+ zêx a= R?n+ R?p+ Ry?+ Rièp tri? +iêt.

a= Reet Rp tReerRiep+Re( ET0

o r a=(R-Re )er + (Re+Rë) Ee + ëêz

121=60-bW3+(0+60) +205= 66W+409342

50 a(+) = (6524+403)42



1 show that lal = dow and (an = Ca'-4)'e where

also n o t e

an'= a'-an a = (0-97) /

=

v = v 7

by virtue of the scalar

t r o m  f e r t we get

5 o

G

/  v I
= (47)



1.22
Prove Wa=vi (showing 21à if v=cont.)

ar (di). tvdü=zudr

2dü. i=Evdv

de=à a.o=ud

11251 Knowing
IVI

2, 9, 7, 4, 5 i

'we know from prob.,2 2
l e t s ,  s t a r t  w i t h

so lve  fo r  n

find an expression for i interme

= Ca. 7/it ann

o r

but and  a r=ã .? 50

n  = b u t  f i ä = v i

there fore

=

a  -

( a ' - j a ) %
= n

( a - v ) %



2 6
given

r = b i = 0

f = w , t ö=w,

4  =  w a t  y = w r

2 = 0

q = 0

Agivenuse spharical coordinates to find
-p-.

the acceleration of arry point on the

190 fim it the wheel.
text equation 1.60 i3 already derined so well use it.

plugging in -

+(8(0) +210) 1250,W2CsW,t)êy

assumily highest means ap on the wheel located on
the vertide axis.

here d-OtanT, reb, 4=wzt

This checks on als =0


